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HH: HAd pol R4
ool MU AW U3 CLR-E
CER(BH) - RN - BaS Of o o HIDS
01 2iZtit=Ex 40,000 40,000
Ndgg 2 40,000,000 14 40,000
=N 1,175,000 1,175,000
307 @lztold 50,000 50,000
02 QFHEx 50,000 50,000
NELY FIHMAEZXS SO 50,000,000 x 14 50,000
401 Al EHIX S0 1,125,000 1,125,000
01 Al&HI 1,083,000 1,089,000
NELY MNSEHeIE &A= 1,089,000, 0003 * 14! 1,089,000
02 Zcltl 36,000 36,000
NELY MNSEHeIE &A= 36,000,000 x 14 36,000
Ngaidaa Zat 3,379,837 A376,213
o 2,900,000
o 479,837
H2Jl AEsSAY = 3,373,897 A380, 153
s 2,900,000
= 473,897
H271 AEsSE A 3,358,503 A379,497
s 2,900,000
o 458,503
201 €Bt=2gH] 393,500 /18,500
s 290,000




2A: dLSaH
g Nl ARE 25
SR M2 AESEAY =2 (Etel: &3
SA I BB - NRAY - B2 0l & o DS
201 ZEer2dh] = 103,500
01 Attt 353,500 352,000 1,500
DR =] 350,000
2)8dd HESH MASHIHE(T/FE) 10,000,000 * 14| 10,000
= 10,000
2)8dd ATy 10,000,000 * 14! 10,000
= 10,000
QNHHENMAUA EFAME S MEAIY 300,000,000& * 14! 300,000
= 200,000
i 100,000
2)2EE MY 30,000,000 * 14! 30,000
s 30,000
1)=&l 3,500
)NEAXNY LRFE 04l 7,000 x5 100 3,500
03 A2EH] 40,000 60,000 20,000
NEYY HEHE BEO 40,000,000 » 141 40,000
= 40,000
202 Ol 15,003 16,000 A997
s 10,000
= 5,003
01 =UHbI 15,003 16,000 A997
NalgSEAIY =8 15,003,000& 15,003
Fis 10,000




=24

SN HLSAHL

B NUHBA A3

Sl T2l HEEAY 23 £l

SA B S(EH) - MPAY - BES P e HI DS
o 5,003
207 S 1IHEHH 520,000 250,000 270,000
[ 520,000
01 289 520,000 250,000 270,000
NELE RSHARS OHE d+E 60,000,000& 60,000
= 60,000
N2 AR AL L 0|0IKIHOIZSHANY 260,000,000 260,000
= 260,000
N&Ed X E3E Q82 e 80,000,000& 80,000
= 80,000
NELP HAL-H 0|1 38 NASHSHY 120,000,000 120,000
= 120,000
307 21201 ™ 980,000 560,000 420,000
[ 830,000
o 150,000
02 2ZtA&=Ex 880,000 360,000 520,000
DAL AES 2 30,000,000& 30,000
= 30,000
NEYY HESIE I8 MALIHRSAY 150,000,000 150,000
= 150,000
NELE IISFSFHLE DSAY 100,000,000 100,000
= 100,000
ngEdag dije ¢=2 ¥ 88 50,000,000& 50,000




2A: A

=R e 435t
el Algeiarel £ 9 @
SA - EH - B(EH) - HRAE - Of ¢ o e 2t

[ 50,000
NELS FOMC Al 100,000,000 100,000
= 100,000
NELIEE sS4 HUERE &5 & IR 100,000,000 100,000
= 100,000
NEL Y EHHHIXIR 300,000,000 300,000
= 150,000
o 150,000
NG 2l 23 50,000,000& 50,000
= 50,000

04 CQIZtHALE X 100,000 200,000 £.100,000
NELS=H XA 100,000,000 100,000
= 100,000

401 AlIZ2HIX 200 400,000 1,850,000 1,450,000
s 400,000

01 Al&HI 400,000 1,841,450 A1,441,450
NEYY ME220t2 =4 400,000,000 400,000
= 400,000

402 RI2tHE01H 1,050,000 420,000 630,000
s 850,000
o 200,000

01 fIA=E2x 1,050,000 420,000 630,000
NELE MAX ZHX 300,000,000 300,000
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